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B. Sc. (First Year) Examination, 2022
(Regular/Private) (NEP)
(Major-II/Minor/Elective)
MATHEMATICS-IT

(Calcuius & Ditferential Equations)
(Fem T FTHA WHIETOT)
Time Allowed : Three hours

Maximum Marks : 70

Minimum Pass Marks : 25
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Note: Attempt questions of all three sections as
directed. Distribution of marks is given with
sections.
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Singular solution of differential equation
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(Short Answer Type Questions)

X
®) ~ -2-'—a-cosax e WWM%WWIWW@@
U9 1 HAAE €| FhF g9 7 3P H &

X . :
©) S sin ax Note: Attempt total four questions. One question
Jrom each unit is compulsory. Each question

X :
carries 7 marks.
(d —2 P cos ax

q -1
The value of (TDT:;Z—) sinax is . Unit-I
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(a) —Ec—l siax ‘
x Give a brief biography of Indian mathematicians

- —cosax
® 2a Bhaskaracharya and Madhava.
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Prove that the rad
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Solve :
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Section-‘C’ Trace the curve 3?2 (2a —x) = £
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(Long Answer Type Questions) Unit-II0
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Note: Attempt total two questions. One question _
from each unit is compulsory. Each qu estion Find the common area between by the parabolas

carries 16 marks. : y* =4ax and x*=4ay.
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Unit-1 Unit-IV
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Find the general solution and singular solution of

If y =sin (m sin”! x) then prove that and find
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Solve by method of variation of parameter

d*;
dx_.; + 4y = 4tan2x .
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